ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
ActpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop, (4722)40-23-64
BpaHck (4832)59-03-52
BnagmueocTok (423)249-28-31
Bonrorpag (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTtepuHbypr (343)384-55-89
WUBaHoBO (4932)77-34-06

Wxesck (3412)26-03-58
UpkyTcK (395)279-98-46
KasaHb (843)206-01-48
KanuHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
Kemeposo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90
KpacHospck (391)204-63-61
Kypck (4712)77-13-04
Jiuneuk (4742)52-20-81
Kuprusua (996)312-96-26-47

https://chpbv.nt-rt.ru/ | | cph@nt-rt.ru

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
HabeperkHblie YenHbl (8552)20-53-41
HukHMii Hosropopa, (831)429-08-12
HoBoKy3HeuK (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16

KasaxcraHn (772)734-952-31

MNepmb (342)205-81-47
PocroB-Ha-floHy (863)308-18-15
Pasanb (4912)46-61-64
Camapa (846)206-03-16
CaHkr-lNetepbypr (812)309-46-40
CapatoB (845)249-38-78
Cesacrononb (8692)22-31-93
Cumdepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coum (862)225-72-31
Craspononb (8652)20-65-13
Tagukuctan (992)427-82-92-69

Cypryt (3462)77-98-35
Teepb  (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Véa (347)229-48-12
XabapoBck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosey, (8202)49-02-64
fAlpocnasnb (4852)69-52-93

VNHITN


https://chpbv.nt-rt.ru/
mailto:cph@nt-rt.ru

» PRESSUREfTEMPERATURE

100 3» XO 400 MO
Temperature F

Corson sleeicodes stortew slefti bodtet
SGrIFESects RPTFE Soots

0*gree Open %FUUCY

Ve g0 20t 0 r 50t 60" 70 80+
2 15 6 u 2 ES EY [ %
25 22 9 2 £ 58 80 mw 1
¥ 3 1 2 57 &7 w2
@ 68 2 & 1w w28 3w 437
5 108 e 100 180 mn w2 sl 62
& 165 3 154 278 a9 67 87 1070
v 209 24 289 520 7 umo1se 2002
ot 528 on 49 833 1 193 283 a1
w728 200 677 1219 1838 2660 3628 4690
w9 302 914 1846 281 aS® 4898 6630
B 12 531 123 2229 L 485 6834 8845
® 634 15% 3873 3 870 80 11270
0 207 828 1932 478 S244 7590 10350 13800
w3 160 2D 5292 780 USS0 15750 21000

» Double offset stem and disc design

9287

11400
14420
22050

VeKe
Size
2

25*
3

2

R B2

ERR

ANSI3CO

Temperature C

10 20¢
15 6
22 9
34 14
8n 27
108 43
165 66

273 109
528 211

728 200
81 328
109 435
139 555
158 830
242 966

1015
1295
1470
2254

Seat non-compressed
as disc approaches

fro» the botton

isc in closed position,
ine pressure applied

Degree Open %Ful Cv

50* 60*
39 se
se D
87 125
m 248
n 392
419 607
892 1001
1338 1934
1838 2660
2083 2988
2755 3388
3515 5088
3990 5775
6118 8855

Disc in elosed posi

7875
12075

on,

with no line pressure

sc in closed posi
line pressure appli
from the top

ion,
ed

8

228
451

714
1103
1911
3517

5702
8243
9712
10858
16205



Double eccentric butterfly valve to U.S standard

D73-S o2*zqcrr)

SIZE

2.5%

14"
16"
18"
20"
24"

SIZE
o
25

A,
9.42
9.13
10.4
1173
13.32
145
16.3
18.26

23

25.16
27.66
32
34.23
38.58

9.41

9.13
10.39
11.73
1331
14.53
16.66
19.23
23.64
26.85
29.21
3341
36.11
41.69

A*
9.42
9.13
10.43
1173
13.95
145
16.76
19.26
23
25.16
27.66
32
34.23
38.58

A2
9.37
9.13
10.47
1193
13.43
14.53
17.92
19.74
23.64
26.85
29.21
3341
36.11
41.69

B
6.42
6.42

74
8.23
9.07

9.6
10.75
11.36
13.46
14.09
156
18.82
20.29
22.13

6.42
6.42
74
8.23
9.07
9.61
10.76
11.88
13.83
15.77
16.91
19.96
21.55
24.26

175
1.88
1.92
213
225
229
2.88
3.25
3.62
4.62
5.25
5.88
6.31
7.19

D
1.06
1.09

12
126
134
1.38
1.49

17
1.86
2.19
231
245
294
3.12

1.06
1.09
12
1.26
134
1.38
154
17
1.86
2.48
2.59
3.03
324
3.62

E
2.45
291
3.37
4.25

53
6.4
8.35
10.16
11.93
13.94
15.59
17.48
19.45
233

2.45
291
3.37
4.25
5.3
6.4
8.35
10.16
1193
13.94
15.59
17.48
19.45
233

ANSI Class150
F G*G
125 0.433
125 0.433
125 0.433
125 0.433
125 0551
125 0551
125 0.669
162 0.866

2 1.063
2 1.063
2 1417
25 1417
25 1811
301 1811
ANSI Class300
F G*G
125 0.433
125 0.433
125 0.433
125 0.433
125 0551
125 0.669
125 0.866
162 1.063
2 1.063
2 1417
2 1417
25 1.811
25 1.811
301 1811

276
276
276
276
276
2.76
4.02
4.02
5.51
551

6.5

6.5

6.5

6.5

276
276
276
276
276
4.02
4.02
4.02
5.51
551
6.5
6.5
6.5
6.5

0.354
0.354
0.354
0.354
0.354
0.354
0.433
0.433
0.71
0.71
0.866
0.866
0.866
0.866

0.354
0.354
0.354
0.354
0.354
0.433
0.433
0.433
0.71
0.71
0.866
0.866
0.866
0.866

0.94
0.94
1.06
1.06
125
1ve-7
iyn7

18
1v-8
1v-8
17n8
1v/-8
1ve-8
1718

AR AN BDNN

N N N N SN N

M
%11
de-11
VT-11
8n11
%"-10
%""-10
%"-10

V-9
V-9
1"-8
18
1'ft-7
17
VI*-7

M
%11
%"-10
'1¢-10
3o
V-0
%"-10

V*9
r-8
Vi"-8
1v-8
IV«"-8
1v/-8
11488
1v/-8

©® © ©® ® ®© Z

12
16
16
20
20
24
24
24

4.75
55

75
85
9.5
11.75
14.25
17
18.75
21.25
22.75
25
29.5

5.88
6.625
7.875

9.25
10.625

15.25
17.75
20.25
225
24.75
27
32



» Double eccentric butterfly valve to German standard

D73- (Z.Q.C.P.R)

PN10.

B W

SAc A A B C D E F M3 H I K 1 M N P
T 239 239 163 43 252 62 40 14 W O M6 4 125
25* 232 232 163 <6 258 M 40 4 0 9 M6 4 145
v 264 264 188 46 287 8 40 16 70 9 M6 8 160
4 296 21 209 52 302 16 50 16 70 9 M6 8 180
$* 3.8 338 230 5 322 135 50 20 W0 9 M6 8 210
6- 369 369 244 55 3325 162 50 20 70 9 M20 8 240
423 423 273 8 ape 210 60 25 70 9 M0 8 295
100 +1635 4635 289 68 4138 250 60 30 102 1 22 2 M0 12 350
ir 684 584 32 78 455 303 60 35 140 18 2 2 M0 12 <60
W 639 839 3B 92 56 354 60 3/ 40 18 2 4 M0 16 460
16" 7025 7025 396 102 587 3% 80 50 165 2 26 4 M4 16 515
18 813 813 478 114 6223 44 110 50 165 2 26 4 M4 20 565
20° 8894 8894 515 127 747 484 110 60 165 2 M4 4 M4 20 620
24+ 980 980 562 15° 79 502 130 60 165 22 M2 4 M2 20 725
PN25

SZE A a4~ B C O E F ® H 1 K L M N P
r 238 239 163 43 252 62 40 14 0 9 M6 4 125
25¢ 232 232 163 46 258 4 40 14 70 9 M6 6 145
3 284 284 168 48 287 8 40 16 70 9 M6 8 160
4 208 208 200 52 302 18 5 16 70 9 M20 8 193
5 38 3B S W B2 1B 0D r0 0 0 Msa 8 MO
6 33 39 244 H 325 182 50 20 W0 9 M4 8 250
8 423 423 213 6 36,3210 60 25 70 9 M24 12 310
10 4836 4835 289 68 4138 250 60 30 102 11 30 2 M 12 370
1 584 584 342 78 455 303 60 35 140 18 30 2 M2 16 430
4 659 669 378 92 56 354 60 35 40 18 33 4 MO 16 4D
16+ 7225 7225 «I6 102 587 396 80 50 165 22 36 4 M3 16 550
r

20

2

PN16
SE A A-
T 239 239
25+ 232 232
3 264 264
4" 296 298
5 338 338
6 369 369
8 423 423
10 4635 4635
12¢ 564 564
14+ 639 639

PN4<)
SE A w
2r 239 239
25% 232 232
3 264 264
4 256 298
B 38 3B
369 369
tr 423 423
10+ 48BC 4835
1¢ 594 594
@
16"
18
20¢

IBBFERBESEH 0

92

14
127

IBBFBEBEE -0

252
258
287

22
325
36.06
41.38

455

58.7
62.23
747

252
258
287
302
3r5
3325

41.38
455

484
582

GEES2838888888m

883838EK &858

S SRE8EEBEE RE S

R8EBEr5RRY

IFIFIIs

70
102

RRRRNRBEBE©©oy©oo

5B ©©©0oooon

TN

BNEBERRRO ©® o@ & & =

N
]

BRR®® 0 0 @ & 2

470

E8BEEBEER™



PN10
SIZE A
r 239
2s 232
Yy 264
4" 298
s 338
8" 369
8 423
10 4635
12¢ 881
14+ B33
18 698
18 798
20 873
24 1022
PN25
size A
r 239
25 232
Yy 264
s' 338
&
8" 423
10* 4635
12¢ sl
14 639
16" 696
18"
20*

612

Eg&o

127
140
140

166
178

218

229
267

106
112
14
127
140
140

165
178
190
216

6223
74.7

252
258
287
302
22
3325
3605
4138
455

587

482
580

gREgRI8mM

883383883888

8838383388888

BEE

0
4

883838 R8RBBE BB R

T

BEBE© ©©oooo .

BN R

N

RNBBRO©O® ©0 ©o n

BREBE =

IS
38

8888

BNENEERRE® 0o ® @ 0 & &

® ® o &

55 KR ™

5

8838 R8BERYRRBY «

3

488

PN1(

SIZE A
roo29
25 232
3 264
& 208
s 38
6 369
& 423
10 4635
12 sl
14 639
16 6%
18 798
200 873
24 1022
PN40
SIZE A
roo29
28 232
3 26«
& 208
5 33
6 39
roo4s
10 4835
12 sl
73
16
18
20%

263
2SA
287
302

3325
36.05
4138
455
56
58.7
6223
7.7
kel

252
258
287
302
322
3125
3605
41.38
455

EREER338m

E8RABERE
BEES88383338s

88588

8338333838

BhEBREEEBITIIIIax

EEEEEEEEEE:

EEooooooon

.
&

BRRRR

BE ©© o o© oo

RE B & BB =

88888 R88R

888EBBRNRE BE =

IS

KRR ® @ o

[
5 5

888

BR ®® ® © @ & —

-
5

BRERSY

10



(2]
=
n

n

(]

-

» Midline valve to U.S.standard

071x' F150(Z Q C RR)

A
IN
2* 162
212+ 1746
r 181
& 200
s 2127
tr Z2bC
tr 200*
1 292
12+ 3366
14 3683
16 400
18" 422
20" 479
24" 562

2416
267.5
318
336
372

42
442
45

544
56.7
60.5
665
769
769
867

161

32
32
32
32
32
32

476
476
476

50.8
6350
69 65

®P

126
126
126
1577
1892
1892

2845
316
316
332

37.95

4112

50.62

794
952

127

11-25¢
11.25%

¢
g

EEEEZS88888

®
g

210
210

» Midline valve to German standard
D71X- phg (Z.Q.C.P.R)

®Oxk xnx <Pd

12065X 4 X 17.5
1397X4 x 175
1824X 4X 175
1905X 4 x 17.5
2159X 4 X 20.64
2413x 4 x 20.64
298.45 X 4 X 20.64
361 95X 4 X 23.81
4318X4X23.81
476.25x 4 X 26.99
539.75 X 4 X 27
577,86 X 4 X 31.75
635X 4 X 3178
7493 X 4 x 34.93

102125
102/125
125
125
126
165
165
165

®OKxNXM!

120.65X 4 X 5/8*-11
139.7X 4 X 5/8*-11
1524 X 4 X S/8'-11
190.5X 8 X S/8*-11
2159X 8 X 3/4M0
241.3X 8 X 3/4MO
29645 X 8 X 3/4--10
36195 X 12 X 7/8"-9
431.8X 12 X 7/8*-9
47825X 12 X -8
639.75X 16 X -8
577N15X 16 X 1-1/8V
635 X 20 X I-1/8*-7
749.3X 20 X 1-1/4*-7

®K

95
95
95
95
95
95
111143
111143
143
143
143
20.65
20.65
2065

318
3.63
6,35
1179
127
14.06
2223
3266
47.63
7031
8845
10433
179.62
276.7

Wafer
272
318
451

58S

818

9.0»
1451
190
3175
4309
K3C7
741
124*4
199.58



Midline valve to ltalian standard
D71X-*g(Z.Q.C.P.R)

valve Size a g ¢ oxe Knx <@ w01 Weigh; {kg|

DM N Wafer Lug

0 U 3% 61 130 32 wn 50X4X7 65 24 26

s 2 43 & 130 2 w1 70X 4X9 %0 29 42

212 46 % 40 2 wn 70X4X9 % 32 &

© 3 48 02 15 2 wn 70X4 X9 % 43 6.6

00 4 52 24 160 2 wn 70X 4 X9 % 54 8

125 5 56 137 170 2 141 70X4X9 % 7* 102

60 6 66 49 190 2 44 70X4X9 % on 12

200 8 60 61 220 45 1717 102X 4 X 11 125 12+ 19

250 10 66 210 260 5 2222 102X4 X 11 125 245 282

00 12 78 248 290 5 222 125X 4 x 14 150 a

» Double-axis valve without pin(back-seated type)
D71X- Z.Q.C.P.R
1D ( Q ) _ A A
ANSI 150 DIN PN10
00 1305211 R s or R s or

50 44 1429 2162 583 n 15 14 719 50/70 FO5/FO7 5/8' -11 INC 4 120.7 M16-2P 4 125
65 47 1556 2352 725 116 15 14 719 5070 FO5/FO7 5/8" -11 UNC 4 139.7 M16-2P 8 145
80 47 1619 247.8 84.7 114 15 14 719 50/70 FO5/FO7 5/8" -11 INC 4 152.4 M16-2P 8 160
100 535 181 2811 106.6 12 15 14 719 50/70 FO5/FO7 5/8' -11 INC 8 1905 M16-2P 8 180
125 57 1969  309.5 1298 117 20 17 9 70 Fo7 3/4' -10 UNC 8 215.9 M16-2P 8 210
150 57 2006 3343 1539 115 20 17 9 70 Fo7 3/4" -10 UNC 8 2413 M20-25P 8 240
200 63 239.7 3971 1994 13 20 17 911 70/102  FO7/F10 3/4" -10 INC 8 2085  M20-25P 8 295
250 7 2858  475.9 248.2 15 25 17 u 102 F10 7/8* -9 UNC 12 362 M20-2.5P 12 350
300 81 3096  S517 3000 145 25 22 u 102 F10 7/8' -9 UNC 12 4318  M202SP 12 400
350 765 350 6286 3358 225 307 27 13 125 F12 1" -8 INC 12 4763  M20-25P 16 460
400 990 3747 6782 8817 223 307 27 13 125 F12 1* -8 UNC 16 539.8 M24-3P 16 515
450 1120 4016 7443 436 217 397 36 17 143 F14 v/} -8 UNC 16 5779 M24-3P 20 565
500 1245 427 7956  486.8 223 397 36 17 140 F14 V/,' -8 UNC 20 635 M24-3P 20 620

600  152.0 4905  918.9 5934 256 56 46 22 185 F16 V/r -8 UNC 20 749.3 M27-3P 20 725



» Double -axis valve without pin(soft seat)
D71X-16 (Z.Q.C.P.R)

» Double -axis valve without pin(soft seat)

ITEM
H, Hr h <, y prp @O0, @O ®iir c c ®0 n-m
SIZE
r 80 1“0 3 ¥ a1 90 7 10 43 a7 126 4M16
25 i 162 3 M 1 0 7 10 46 50 15 4Mm16
3 80 159 3 1 % 70 10 26 50 160 8-M16
a % 78 & 8 1414 90 7 b 52 565 180 8M16
y 12 191 3 B 414 90 7 10 5 605 210 8M16
B 128 203 3 18 1414 9 7 b 56 605 240 8-MM
renio 155 243 3» 22 1717 152 123 14 «0 645 295 8-M20
FPNie 186 243 39 2 177 182 125 14 60 645 205 12-M20
10VN10 B7 273 39 28 2222 152 125 14 66 725 350 12-M20
ICTPNie 187 273 39 28 2222 152 15 1 68 725 356 12:M04
12PN10 20 311 39 28 2222 12 15 1 78 85 400 12-M20
12°PN16 20 31 3 28 2222 152 125 u 78 85 410 12-M24



A B Cc nXn H I DOX4-0, X T

60 T 161 19 HO 11«H 30 43 10*4-9 36

65 2-12 160 93 90 11711 30 46 70*4-9 4

80 3 105 103 90 1111 30 46 70*4-9 4.4
100 4" 185 120 90 14*14 30 52 70*4-9 6.5
125 5- 210 133 90 14*14 30 56 70*4-9 78
150 B* 210 158 125 1717 30 56 70*44v102*4.12 108
200 tm 250 180 125 1717 30 615 70*4-0/102*4*12 148
250 10* 295 216 125 22*22 30 88 102*4-12 222
300 12- 321 251 150 22*22 30 78 102*4-12/125%4-14 335
350 14- 346 262 150 22*22 45 78 125*4-13 474
400 16- 375 300.8 176 27*27 45 102 140%4-17 514
450 18" 400 333 175 27%27 45 14 140*4-17 1024
500 20- 432 366 176 36*36 45 127 140%4-17 1115

» Single -axis valve without pin(soft seat)
D71x-™(Z.Q.C.P.R)
Valve biz«

N N L A B Cc D©OXnX o<1 Sg/<I>dl <PF Toqgjo(Nm)
0 T 402 83 130 13 70%4*9 10*10 90 20

65 25- 44 95 140 13 70*4*9 10*10 90 40

80 r 4 102 145 3 70%4*9 10*10 90 40

100 4 51 14 160 13 70*4*9 10*10 90 60
125 5 631 137 170 17 70%4*9 14*14 90 80
150 6* 531 149 180 17 70%4*9 14*14 90 100
200 r 60 161 220 20 102*4*12 17417 125 200
250 io- 66 210 260 22 102*4*12 19*19 125 300
300 12* 76X 248 290 25 125*4*14 22722 150 400
350 14 8 279 320 25 125*4*14 22%22 150 900
400 16* 10i 2928 350 27 165*4*22 24*24 210 1000
450 18 4 356 360 30 165*4*22 2727 210 1100

500 20 12+ 357 420 33 165*4*22 30*30 210 1200



15

Double-flange butterfly valve
D41X-1°(Z.Q)

v

DN

150
200
250
300
350
400
450
500
600
700
800
900
1000
1050
1200

Valve Size

155.6
202.1
250.2
30H
3333
2896
440.3
491 6
592-5
695
794.7
8647
965
1030.7
1160.6

2%
uw 3p

E8REBRIBBERRE 229 R

240
295
350
400
460
515
565
620
725

950
1050
1160
1257.3
1380

305
445
505
565
615
670
780
895
1015
1115
1230
1346
1455

A
83
95
102
124
137
149
181
210
248
2719
305
365
371
457
460
520
525
635

685
870

19.82
21
2845
316
316
3334
381
4128
5062
63.35
63.35
73
85
95
105

U-type flange butterfly valve
D41X-:Jg9(Z.Q)

A

149
100

B
130
140
145
160
170
190
220
260
290
320
350
380
420
470
560
585
610
690
740
856
Mbl 11
—822
—822
M20 822
M0 822
M20 1222
M4 12°26
M24 1626
M24 16'26
M2/ 16'30
m27 20130
MO 20-33
MO 24133
103 24:36
M3732*41.3
M6 2840

205
247

297
318
448

5202
591.2
656
721

T772

864

226
260
292
337
368
400

480
562
624
672
720
800
858

9407

58 888RRNBEREERRE R

32
45
45
45
45

51

66
66
118
142
150
150

YUs</T (12

70%4*9
70%4*9
70%4*9
70%4*9
70%4*9
70*4*9
102*4*11
102*4*11
125%4*14
125*4*14
165*4*22
165+4*22
165*4*22
254*8*18
254*4722
254*8*18
254*8*18
254*8*18
254*8*18
298*8*22

59

ns
81
95

116
129
156
mn
198
211
224
261
264

Wwghl(ke)

78

9

2

25

27

30

48

66

w

99

200

225

273

320

450

510

620

710

910

1450
b <M1
125 9
155 12
175 2
21 1
2 1
30 2
30 2
32 22
36 2
40 18
a4 18
46 18
50 18
66 2
56 2



» Split type butterfly valves

Valve Size

VALVE BODY(mm)

DN IN A B C D E H
25 1" 92 25.4 30 61 10 8
40 1-1/2* 104 25.4 32 81 10 8
50 2" 140 32 411 94 14 10
65 2-1/2" 152 32 445 106 14 10
80 3- 159 32 445 124 14 10
100 4" 178 32 51 154 16 n
125 5" 190 32 54 181 19 13
150 6" 203 32 54 206 19 13
200 8" 241 32 63.5 267 22 16
250 10" 273 SO 63.5 324 30 22
300 12" 311 50 76.2 378 30 22
» Split type butterfly valve with PTFE seat
SIZE
DN(mm)
B C L H K FLANGE
50 74 136 117 43 32 65
65 82 138 126 46 32 65
80 90 138 142 46 32 65
100 115.8 158 178 52 32 90 DINPN10
125 132.5 174 202 56 32 90 DINPN16
150 1455 190 234 56 32 90 ANSIL50
200 179.5 229 286 60 45 125
250 216.5 269 350 68 45 125
300 253.5 300 402 78 45 125

TOP FLANGE TABLE(mm)

1S05211
FO5
FO5
FO7
Fo7
FO7
Fo7
Fo7
Fo7
F12
F12
F12

N-01
4-6.7

4-6.7

4-10.3

4-10.3

4-10.3

4-14.5

4-14.6

4-14.7

>Q
50
50
70
70
70
70
70
70
125
125
125

50
50
50
70
70
70
102
102

102

F
65
65
90
90
90
90
90
90
150
150
150

127

127

127

15.8

19

19

22.2

28.6

318

N<BR
4-07
4-07

4-010

4-010

4-010

4-010

4-010

4-010

4-010

4-014

4-014

Q*Q
1n

1
14
14
14
17
22

22



» Double-opening check valve

17

H77X-10(ZQ)

ON

65

80

100

125

600

Rubber-coated check valve
H47X-1g(ZQ)

50

65

Valve Size

Velve Size

14

16*

DA

179

200
220

340

482
533

PN10

109

129

144

164

194

220

275

330

380

B

101

222

280

336

488

595

PN16

172

200.6
2545

366.2
39%4.2

506.8

1715
2223
276.2
327
355.6
406.4

ANS1150
105

124

197

222

279

410

451

549

606

718

765

972

984

167

21

oP

125

210

240

295

400

460

515

620

40

60

70

88

1155

1425

169.5

220.5

2755

325.5

360

225*

225*

225*

225

225*

11.25¢

1125*

@®J

476
587

87.3

127

1413

1921

2302

2746
304.8

406.4

460.3

43

46

114

114

127

140

152

152

1016

1306

1842

216

W+gh*kg)

107
165

23

2A

68

110



MEIHUA INDUSTRIES

» Check valve to U.S standard
H77X- 1 (Z-Q)

PN D D2 L

MM IN

50 2" 104.78 70 53.98
65 25" 123.83 83.3 53.98
80 3" 136.53 90.5 57.15
100 4" 161.93 1155 63.50
125 5" 195.24 144.46 69.85
150 6" 222.25 169.5 74.2
200 8 279.40 220.5 95.25
250 10" 339.73 275.5 107.95
300 12" 406.40 325.5 142.88
350 14" 422.28 356 184.15
400 16" 502.70 404 190.50
450 18" 549.28 467 203.2
500 ro- 606.43 514.35 212.73
600 24" 717.55 616 222.75

» Check valve to U.S standard

Veto Size Class 150Lb Valve Sirs Class 300Lb
IN L 0 01 02 0 n-d H w- IN L [ o1 02 b nd H Wirg)
2* 203 152 1207 92 158 419 132 15 2> 203 185 127 92 222 819 132 15
25- 218 178 139.7 105 175 4-19 147 20 25" 218 190 1492 105 254 822 147 20
3 241 190 1524 127 19 4-19 178 27 3 241 210 1883 127 286 822 178 27
4% 292 229 1905 157 239 819 198 45 & 292 254 200 157 318 822 198 45
5 330 254 2159 186 239 822 255 58 6 330 2719 235 186 349 822 256 68
8 356 279 2413 218 254 822 320 89 6 358 318 289.9 218 385 122 320 89
8’ 495 343 298.5 270 285 822 380 131 8 495 381 3302 270 413 12-25 380 131
10" 622 406 362 324 307 12-25 440 219 plog 622 445 387.3 324 476 16-29 440 219
12* 699 483 4318 381 318 12-25 480 21 12- 899 521 4508 il 50.8 1832 480 21
4 787 533 478.3 413 35 12-29 530 380 14 787 584 5143 413 54 20-32 530 380
16 864 597 5398 470 366 1629 580 560 16" 864 648 5715 470 57.2 20-35 580 560
18* 978 636 677.9 533 396 18-32 820 630 18 978 sy 8287 533 60.3 24-35 820 830
20* 978 899 836 584 429 20-32 857 770 20 978 775 685.4 584 835 24-35 857 770
24* 1295 813 749.3 $92 478 20-35 760 960 24 1295 914 8128 692 699 2441 760 960
330" 1524 978 o9t4.4 857 748 28-35 980 1960 30 1524 1092 997 857 92 28-48 980 1950



» Swing check valve threaded(ANSI 200PSI)

IPART LIST DIMENSION TABLE
ITEM DESIGNATION MATERIAL SIZE
2 34" 1 /4 12t 2
1 BONNET CF8M ITEM
2 GASKET PTFE
d 15 20 25 32 40 50

3 BODY CF8M

4 HANGER PIN 304

5 PLUG GASKET PTFE

6 PLUG 304

7 DISC CF8M

Valve Size Class 150Lb VaVeSce Class 300Lb

IN L D D1 D2 b n-d H DO w DN L D D1 D2 b n-d H DO w
2" 177.8 152 120.7 92 158 4-19 342 250 23 2" 215.9 165 127 92 222 8-19 356 250 30
25" 190.5 178 139.7 105 175 4-19 372 250 30 25" 2413 190 149.2 105 25.4 8-22 395 250 39
3" 203.2 190 152.4 127 19 4-19 380 250 36 3" 2825 210 168.3 127 28.6 8-22 440 250 55
4" 228.6 229 190.5 157 239 8-19 458 300 53 4" 304.8 254 200 157 318 8-22 500 300 83
5" 254 254 215.9 186 239 8-22 545 300 71 5" 381 279 235 186 34.9 8-22 587 300 92
6" 266.7 279 241.3 216 25.4 8-22 602 360 85 6" 403.4 318 269.9216 36.5 12-22 630 360 137
8" 292.1 343 298.5 270 28.5 8-22 753 400 136 8" 419.1 381 330.2 270 41.3 12-25 763 400 240
10" 330.2 406 362 324 30.2 12-25 934 400 220 10" 457.2 445 387.3 324 47.6 16-29 982 400 378
12» 355.6 483 431.8 381 318 12-25 1102 500 323 12" 501.7 521 450.8 381 50.8 16-321160 500 536
14" 381 533 476.3 413 35 12-29 1207 600 378 14" 762 584 514.3 413 54 20-321310 600 880
16" 406.4 597 539.8 470 36.6 16-29 1350 650 553 16" 838.2 648 571.5 470 57.2 20-351545 650 1080
18" 431.8 635 577.9 533 39.6 16-32 1472 650 660 18" 914.4 711 628.7 533 60.3 24-351623 650 1300
20" 457.2 699 635 584 42.9 20-32 1630 800 810 20" 990.6 775 685.4 584 63.5 24-351770 800 1190
24" 508 813 749.3 692 47.8 20-35 1920 800 1250 24" 1143 914 812.8 692 69.9 24-412102 800 2900
30" 610 978 914.4 857 74.6 28-35 3140 2480 30" 1397 1092 997 857 92 28-48 3540 3786
32" 711 1060 978 914.4 80.8 28-41 32-80 2950 32" 1524 1149  1054914.4 98.6 28-51 3760 4400

19



» Non-rising gate valve

f n<J H Norminai pressure(MPa) 1.OMPa

3 4-19 ~ Suitable medium Water oil products

3 410 22 Testngpressure  oclV 15MPa

3 4-19 222 (Mpa) Seat 11MPa
Working temperaturefC) 120°C

Technical Requirements
823 » 1Design & manufacture conform to DIN3352
» 2.Test & Inspect conform to DIN3230.1SO 5208

823
1223 » 3-Flange dimension conforms to EN1092-2 PN10
» 4Face toface and end to end: DING202 F4
12-23 A 5 Pressure-temperature ratings to DIN2401
DN L H D D1 02 b n-d w PRESSURE TEST TO DIN 3230
50 150 347 165 125 102 2 418 180 on  RESHE  plRTERL
65 170 390 185 145 122 EY 418 180 Rating(PN)  Body Seal
& 180 470 200 160 138 2 818 200 50-300 10 15 1
100 19 535 220 180 158 E 818 200
125 200 644 250 210 188 % 818 250
150 210 739 285 240 212 2 822 280
A 1Desi ding to: DIN3352
200 230 936 340 205 268 % 822 300 on accordng
250 250 1133 3% 350 320 2 1222 360 » 3.Flange drilling according to: DIN2532 PN10
300 270 1330 445 400 370 28 122 400 » 4Testing according to:DIN 3230
DN L H D D1 D2 b n-d w "
Norminai pressure(MPa) 16MPa
40 240 195 150 110 88 18 418 160
Suitable medium Waterol products
50 250 202 165 125 102 20 418 160
Body 2.4MPa
65 270 222 185 145 122 20 418 160 Testig pressure
Seat 1.76MPa
80 280 250 200 160 138 2 818 160
100 200 03 20 15 158 " 015 200 Working temperaturefC) 120C
125 325 351 250 210 188 % 818 250 Technical Reguirements
150 350 a1 285 240 212 2 822 250 » LDesign & manufacture conform to DIN3352
200 400 408 240 205 268 % 122 250 » 2.Test & Inspect conform to DIN3230.1SO 5208
250 50 70 05 55 20 2 1296 20 » 3Flange dimension conforms to DIN2533 PN16

» 4.Face to face and end to end: DIN202 F5
300 500 679 460 410 378 28 1226 320 A 5 Pressure*temperature ratings to DIN2401



» Globe Valve



» Flanged Ball Valve
Q41F-™ (Z.Q.T.P.R.C)

1.Working temperature:£150°’
2.Applicab(e media:Water.steam,oils and corrosive
media.
3.The end of ball valve is flanged.which can
be equipped with manually.electrically or
pneumabcaty operated actuator in order to meet
the different applications and control requirements
4.Nominal pressure:1.6Mpa

IN DA ®B @oC
12 95 65 45
3n* 105 75 58
1 115 85 68
1-1/4" 140 100 78
12 150 110 88
2" 165 125 102
2-1/2" 185 145 122
3 200 160 138
4" 220 180 160
5+ 250 210 188
6" 285 240 212
8" 340 295 268

120

125

130

140

150

180

190

200

210

400

» Rubber Expansion Joint

PRESSURE
DN BL RATING

MAX ®o

20 70 10 90
25 70 10 100
32 70 10 120
40 70 10 130
50 70 10 140
65 70 10 160
80 70 10 190
100 70 10 210
125 70 10 240
150 70 10 265
200 90 10 320

DIN PN6 Flange to DIN PN6

® «
65
75
90
100
110
130
150
170
200
225
280

L

130
130
170

170

49
54

73
78
86
98
113
136
165

190

n*M#l
4*M10*14
4*M10*16
4*M12* 16
4*M12*16
4*M12*16
4*M12*16
4*M16*18
4*M16*18
8*M16*18
8*M16*18
8*M16*20

110

120

140

150

180

215

240

320

FLANGE BOLT CIRCLE THICKNESS WEIGHT

15
19
28
3.0
32
4.0
65
6.9
85
9.4
145

1
1
13
14
14
14
17
17
17
17

17

FLANGE

b o

DIN PN10 Flange to DIN PN10

BOLT CIRCLE

@ K
75
85
100
110
125
145
160
180
210
240
295

eCl/oC
FO3/F04
F03/F04
F04/FO5
F04/F05
FO5/FO7
FO5/FO7
FO7/F10
FO7/F10
FO7/F10
FO7/F10
F10/F12
F12/F14

185

185

18.5

185

25

THICKNESS

ML
4*M12*12
4*M12*16
4*M12*16
4*M12*16
4*M12*16
4*M12*16
8*M12*18
8*M12*18
8*M12*18
8*M20x18
8*M20*20

z-06
4-014
4-014
4-014
4-018
4-018
4-018
4-018
8-018
8-018
8-018
8-022

12-022

WEIGHT

2.0
27
a1
4.4
51
6.2
75
81
9A
124
188

22



» Single Spherical Rubber Expansion Joints

3w
Nominal core Nominal core
Norf OFTMIT - Damoter  Avai «eetocemeot Ir00<* Domew (feracor  Axial (Septecement
dfemeter Length ofbolhcto oy sih diameter Length NOBe* me™  Tdbet
oltxtthde (mm) (m)
oN bet oartjr b ofbe*rote  hole
L) i artrrerdo ON L(mm)
ot Omo (@) Oty .
(mm) <) Oxfrrmn) Strew* Ccrrpre®en mm)  on) w Conpression
R o % 4 we 100 6 9 9 15 % 1 1210 W 4 6 794 w5 3
© @z % 4 174 110 6 10 9 15* 2 4 B21%0 B 4 16 89 95 13
50 2 106 4 175 125 7 10 10 15 0 s 152 10 16 4 16 935 95 13
65 (2(;2) 135”5130 2 gz 1‘;’ ; E E i 50 2 12130 16 4 19 2«5 a3
e g
2, 4 1 Rk
to (4 15 135 8 175 180 10 1 13 15¢ & 2 15016 » 95 % 3
125 (5 165 160 8 175 210 12 19 1 Is- 03 1210 18 4 9 153 95 1
0 (@ 10 1B 6 2 240 » P » is* 00 4 1210 6 a 1 190 95 -16
2 () 190 20 8 2 205 16 3 2 15¢ s 5 152130 20 8 25 216 #95  -16
20 (o) 230 240 12 2 350 1 F3 2 15 B 6 1210 2 8 25 242 495 16
0 (12 245 %0 2 2 «00 1 = 2 15¢ 20 6 12130 2 6 25 28 % -16
30 (14 265 16 26 «60 16 25 2 5 250 10 203 130 24 12 255 382 13 -16
A0 (g B 16 6 gég 16 % 2 15 00 1 20310 24 12 255 42 o3 -19
45(5;2 (éz; ;22 g 2:) poot b Z ;; ﬁ 3 14 203200 26 1 85 476 o3 19
w0 @) s w % 25 P s » ol 400 16 203200 28 16 85 540 o3 19
0 @y 60 24 co by » o 40 18 203200 B 16 2 58 e 19
800 (32 260 24 30 920 16 2 2 10 50 20 203 200 30 20 2 634 .13 -1
00 (@ 20 % B 1020 = 2 10° 600 24 254260 2 2 3B 7495 3 19
oD (40) 260 2 kY 1120 b 3 2 0 600 32 254 260 B 24 0 wio 138 19
Table of Materials
Material
Mom body Potonzod rubber Nominal core da ON
Lining Nylon cond fabric (mm) (In)
Hard sloei wire
Forgeabe castiron
Technical Specification
40 112 200 56 2
Working pressure  1.0MPa(1Okgfiem?)  Deflecting angle |  (al+a2)45C
Bursting pressure  3.0MPa(30kgf/cn>*) Vacuity 53.3KPa(400mm Hg) 50 2 200 56 2
Appfccablo torop. -20-+115C 65 2112 200 5-6 2
| Appiicable media |  Air.Compressed air.water.sea.water.hotwaterweak.ackJ.etc. & 3 200 56 2

23

B B B R



» Flanged Y-type strainer

Item

N

o b w

6

Performance and Size

Description
Body
Strainer
Cover
Washer
Bolt
Bolt

(Working medla)Vtaeor, Sloam,ol

(Worthg pfewore):PN10.PNie

Materials Remark
GG25 GGG40
SS304 Icr18Ni9TI
GG25

PTFE+Graphite
GG25
A3

» Y-STRAINER(ANSI 800PSI)

PART LIST

Item

Designation

BODY

SCREEN

GASKET

BONNET

Material

CF8/CF8M

304

PTFE

CF8M

DN
40

65
80

125
150

250

Shape and Joint dimensions

DL
D150
D165
D185
D200
D220
D20
D285
D340

DIMENSION TABLE

SIZE
1/4-
ITEM
C 10
A 35
B 51

3/8”

12

65

51

L
200
230
290
310
350
400
480
600
730

12"

15

65

51

b

3/4"

20

80

60

H
126
134
182
208
240
280
325
400
485

25

90

72

D2
P10
P15
P45
P160
D180
P210
D240
D295

D30/35

11/4"

32

105

7

n*d
4-d18
4-P18
4-18
818

818

8-DR/12-D2

2-2%

1172

40

120

87

on

50

140

103



MEIHUA

» 1-PC BALL VALVE

z
[
S©®~NoarwneF

=
o P

PART NAME
BODY
BALL
END CAP
STEM
THRUST WASHER
STEM PACKING
HANDLE
GLAND NUT
STEM WASHER
STEM NUT
LOCKING DEVICE
HANDLE COVER

» 2-PC BALL VALVE

25

omwmm»wm»—-%

RSERESB

PART NAME
BODY
BODY SEAL
BALL SEAT
BALL
END CAP
THRUST WASHER
STEM PACKING
GLAND NUT
STEM
STEM NUT
STEM WASHER
LOCKING DEVICE
HANDLE
HANDLE COVER

INDUSTRIES

MATERIAL
CF8M
SS316
CF8M

SS304/SS316
PTFE
PTFE
SS304

$S304/SS316
SS304
SS304
SS304

PLASTIC

MATERIAL
CF8M
PTFE

RPTFE/PTFE
SS316
CF8M
PTFE
PTFE

SS304/SS316

SS304/SS316
S$S304
SS304
SS304
SS304

PLASTIC

v /13

SIZE
14"
3/8"
12"
3/4"

1

1-1/4"

1-1/2"

M

SIZE
il4x
3/8"
172"
3/4'

1%

1-1/4"

1-1/2"

2-1/2"
3%

SPECIFICATIONS

~ Working Pressure: 1000PSI
» Temperature Range:-40"XC~232°C

» End Types:Female Threaded

» Options:Locking device

» Reduce Bore

9.2
125
15
20
25
32

39
a4
57
59
7
78
83
100

39
39
40
45
53
58
66
72

SPECIFICATIONS

» Working Pressure: 1000PSI
» Temperature Range:-40°C~232°C

» End Types:Female Threaded

» Options:Locking device

» Full Bore

115
125
15
20
25
32
38
50
65
76
94

51
51
57
68
80
91
103
122
159
182
224

50
50
53
57
65
70
85
94
115
124
150

68
68
88
88
110
110
135
135

110
110
110

125
125
155
155
225
225
300



» 3-PC BUTT WELD BALL VALVE
SPECIFICATIONS
» Working Pressure: 1000PSI
» Temperature Range:-400232°C
» End Types:Butt welded
» Options:Locking device

» Full Bore

SIZE d D L H w
/4" 115 16.4 65 50 110
3/8" 12,5 18 65 50 110
172" 15 22 66 53 110
3/4" 20 27 80 57 115
1 25 335 85 65 125
1-1/4" 32 44 105 70 125
1-1/2" 38 50 113 85 155
2+ 50 61.5 134 94 155
2-1/2" 65 75.4 170 115 225
3 76 90 186 124 225
4 94 114 220 150 300

» 3-PC THREADED BALL VALVE

SPECIFICATIONS

» Working Pressure: 1000PSI

» Temperature Range:-40°0232°C
» End Types:Female Threaded

Y Options:Locking device

~ Full Bore

SIZE d L H B
14" 125 72 50 107
3/8- 125 72 50 107
172" 15 72 83 107
3/4- 20 80 58 125
1 25 85 68 132
1-1/4" 32 105 73 145
1-1/2" 38 123 86 147
2 50 134 93 163
2-1/2- 65 170 115 225
3* 76 186 124 225



» PIPE FITTINGS(316/304 150PSI)

MHO0011 MH0012



» Description of product numbering methoc

MHO0021
MH0024
MH0025 MH0026 MH0027
MHO0031 MHO0032 MH0033

MHO0034 MHO0036



MEIHUA INDUSTRIES

» Worm Gear » Pneumatic Actuator

Structure form:Double-piston gear-strip structure with steady output torque,single action plus spring,single

and double action to the same cylinder body.

Introduction of work:2-10bar filtrate dry or oiled lubricated compressed air.

Working temperature:-20eC-+95eC;special temperature -50-180

Angle of rotatk>n:90%,120'.180* can be chosen for standard type.

Output torque:3-80.000Nm (See torque meter)

Connection mode.Installation hole at joint of bottom surface and valve rod is double foursquare,tallying

SIZE 254+ Bemcc* 8"-10* 12%-14" 16+ 18+ 20% 24* with standard of 1S05211/DIN3337S.tallying with NAMUR standard for air feed.It can be installed directly
Transfer Rato 241 301 50:1 80:1 300:1 with electromagnetic valve.
Torque(Nm) 200 500 1200 2500 4000 Material:Cylinder body:aluminum alloy+anodic Ireatment;End coverialuminum alloy+epoxy resin
A 206 310 308 430 480 treatment,Gear shaft steel+rigid inlayed electroplating coating decoration
B 154 233 226 300 350 Bearing Low friction material acetal resin,Sealing element;rubber BUNAN(VITON or EPOM)
c 127 177 200 290 313
Inpjt aif souc* (KMeur«(BAR)
SITF(N
0 105 154 164 260 276 (IN) » 3 4 5 A . s 9 10
E 45 63 775 120 120 cr32 30 45 60 75 90 105 12 135 15
. o5 . . 103 a7 cT4s $0 so 129 15 130 2 24 27 30
C493 ni 21A 284 *5 lift 497 635 7
G 38 39 39 525 745 cT83 304 456 601 2 912 1064 1216 1363 152
oH 152 300 300 300 2001400 CT110 666 962 131 1637 1985 25 262 2C 327
criz7 102 153 205 256 307 356 410 261 512
oM 70 70 102/125 125 125 165 165 cT149 175 282 = 437 525 612 700 757 875
a4-Mp M8 w8 M1Q/M12 M12 M12 M18/M20 M18/M20 CT160 267 400 Ne 607 01 934 <68 1201 3%
CT210 498 747 806 1245 1494 1743 1902 241 2400
CT240 732 1038 1404 1830 2196 2582 2928 3284 3600
cT270 112 1668 2224 7780 3336 3002 2448 5004 5600
> ScreW|ng Ge ar CT300 271 1906 2543 3177 3613 4448 5086 571% 6365
CTo 2264 3428 4540 5710 G852 7994 9130 10276 11420
CT400 3055 4882 6610 8137 9765 11392 13020 14647 16275
CT500 8B 12717 18058 21106 253+ 20673 33912 38151 42390
CT600 18277 24415 32554 40692 48331 56089 56106 73246 81385
' This speed reduction unit is used in combination with
pneumatic plant.used for butterfly valve.ball valve and plug
valvo.etc.with 90 unblocking degree to realize manual or
pneumatic drive.
NO size H 0 01 HL ®NAXNXM h W eighty)
g N " : Input torque Input torque liameter of :
1 2'-4 243 160 90 173 70M*M8 32 7.0 Model Velocity ratio moment Nm moment Nm handwheel Weight(kg)
2 5.6+ 252 180 90 182 70*4*M3 32 7.0 XLHJ26 26:1 60 300 200 7
r 200 XLHJ38A 60 500 200
3 320 126 254 102*4*M10 50 14.0
10¢ 300 XLHJ38B 381 75 620 250 13
4 12¢ 320 300 150 254 125%4*M12 50 17.0 XLHJ38C 90 700 300
100 1000 250
XLHJ54 54:1 17
» Hand lever 120 1200 0
110 1600 300
XLyt 80.1
140 2000 400
XLHJ76 78:1 200 3100 600 38

\

ApxaHrenbck (8182)63-90-72
Acrana (7172)727-132
ActpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BpsAHcKk (4832)59-03-52
Bnagusoctok (423)249-28-31
Bonrorpag (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
ExatepuHbypr (343)384-55-89
WBaHoBO (4932)77-34-06

WxkeBck (3412)26-03-58
WUpKyTck (395)279-98-46
KasaHb (843)206-01-48
KanuHuurpag (4012)72-03-81
Kanyra (4842)92-23-67
Kemeposo (3842)65-04-62
Kupos (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosapck (391)204-63-61
Kypck (4712)77-13-04
Nuneuk (4742)52-20-81
Kuprusua (996)312-96-26-47

» Electric Actuator

Maruutoropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93
HabepeskHble YenHbl (8552)20-53-41
HukHmii Hosropopa, (831)429-08-12
HoBoky3Heuk (3843)20-46-81
Hosocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MNeHsa (8412)22-31-16

KasaxcraH (772)734-952-31

https://chpbv.nt-rt.ru/ | | cph@nt-rt.ru

Mepmb (342)205-81-47
PocroB-Ha-floHy (863)308-18-15
PasaHb (4912)46-61-64
Camapa (846)206-03-16
CaHKrt-MNetepbypr (812)309-46-40
Capatos (845)249-38-78
CeBactononb (8692)22-31-93
Cumdepononb (3652)67-13-56
CmoneHcK (4812)29-41-54
Coun (862)225-72-31
Craspononb (8652)20-65-13
TaAuKucTaH (992)427-82-92-69

CypryT  (3462)77-98-35
Teepb  (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
VnbaHOBCK (8422)24-23-59
Vda (347)229-48-12
Xabaposck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosey, (8202)49-02-64
flpocnaenb (4852)69-52-93


https://chpbv.nt-rt.ru/
mailto:cph@nt-rt.ru

